Lesson
173 Date

Money Word Problems

Read each story problem. Write the answer.

Dawson has 4 pennies in one hand and 3 dimes in the
other hand. How much money does he have in all? ¢

Claire has 2 nickels. She finds 3 more nickels. How
much money does she have in all? ¢

Amber has 1 nickel. Mia has 7 pennies. How much
money do they have altogether? /A

Allie has 3 dimes. Paul has 5 nickels. Who has more
money?

Zion bought a pear for 2 quarters and a candy for 8
pennies. How much money did Zion spend in all? ¢

Lucas had 20¢ until he spent 5 pennies on a LEGO
block. How much money does Lucas have how? ¢

Gavin had 42¢ until he spent 2 dimes on an ice
cream cone. How much money does Gavin have now? ¢

Chloe had 50¢ until she spent 1 quarter on glue.
How much money does Chloe have now? ¢
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